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Who is the Rin — Rin N2

Overview

The niwn states that if one damaged 7%°¥n 72 PRW 2°033, he is 21, The
inference is that even though they are w7 (to some extent) but since 72 PX
72°vn you are 2. The X n3 then asks, ‘who is the Xin’ that maintains that
you are 211 for damaging such mw7pi where there is no 112°¥y» 211 (if you
derive benefit from them). There are mw7pn for which there is no 72°yn 210
according to all opinions'. Why does the Xmx ask Xin j&», which indicates
there is only a minority opinion? ma01n resolves this issue.

— YPP 1D NDIYN 1N NODT MVIPNN LYNY XA NIT 1D NVIVD 2912195
The questioner (Xin 1¥n) meant as follows: it was certain to the questioner
that the Xin of the 71wn when he stated 7%°yn 372 RW 2°021 did not intend
to exclude® those mw7ps for which there is no obligation of a %% 127p;

for instance by ¥P9p. If someone derived benefit from ypp that belongs to wpr, the
usual rules of 72°vy» do not apply. Moo claims that we cannot say that this is what the
mwn was referring to when it stated 72°¥n 172 1XYW 2°033, that one is 211 if he damaged
wIpn YW vpap since there is no 12°vn 17 if someone benefitted from wipna Yw vpp.

The reason we cannot say that the 771w» meant this is -
ST XY DYDY RD NDIYN NI2) YD) DN )T

For since they are the property of @w7pn, whether or not there is a9°¥»

does not add nor diminish the liability for this act of pri. If it is w7pn property,
there is no Pm>wn 2vn, regardless of the 7>y 20n.*

Summary
Articles which belong to w7pn are certainly excluded from receiving

payment for damages suffered (regardless if there is a 72°¥1 21°1 or not).

Thinking it over
If the mwn did not mean to exclude vpap (which is a 79V 17 72 7RW WIPN),
then why indeed did the mawn state 77°¥1 1°7 172 1PRY 0°0017!

"It would seem that if they were damaged, the p>m would be 21 (according to our FIwn).

? The term 7m1%3 indicates that n9oIn (or *"2, etc.) intends to resolve a difficulty in the apparent
understanding of the X7n3. See ‘Overview’ for an explanation of this difficulty.

? The term ‘exclude’ ("ovn?") is used here to mean to exclude them from the Mo of being 072 Ww 0031 P
77°vn; and have the P12 be 271 since this is 72°¥n 072 PRW 0°001.

* See v "7 2,y moaon. If he is ypap w>7pn, ete. it leaves the 0°%va w1 completely and it now belongs to
w7pn. [See however the 2"w1in on 2,1 concerning the MW 3"7 °"w1.] However the mawn could be referring to
o°%p 0w which do not belong to wTpi (as of yet [according to 3";1°7]), it is (just) the responsibility of the
W 7pn to bring it for a 127p.
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